" Name:

Class: Primary 3

CHIJ ST NICHOLAS GIRLS’ SCHOOL.

Primary 3

Continual Assessment Two

SCIENCE
BOOKLET A

27 August 2012

Total Time for B_opklets-A andBr1h 45 min
30 Questions |
60 Marks

Do not open thls booklet, untll you are-told to do so.
Follow all instructions carefu!!y
Answer all questions.

This bookléet consists of 17 printed pages.



‘ .Sectlon Acf 30 X 2 MARKS )

For each question from 1 to 30, 4 options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade your answer on the Optical Answer
Sheet.

1. After watching a video on ‘Living Things’ during Science lesson, four pupils made the
following conclusions about living things.

Jess: Al living things are able to reproduce.

Lynn: Al fiving things can make théir own foed.

Tara: Only animals with legs can moveé by: themselves.

Mina: Only animals can respond to cﬁanges because they can move.

" ‘Which of the above pupils’ conclusnons are’ correct"
{1} Jess only
(2) Taraonly

{3) Tara and Mina only
{4) Jess and Lynn only

2. The diagram below shows two objects, a coin and a tyre.

Coin Tyre

Which one of the foi!owmg statements about the above Obj&CtS is false‘?

(1) The coin is harder than the tyre _
* (2) . Both are of the same shape and size.”
(3) . Both cannot move freely on theirown.
(4  Both are made of materials that are waterproof




3..

4.

The table bilow shows the characteristics/properties of X, Yand Z. . .

{ Charactensbcs FProperfies |~ X [ Y [ Z
Able to make food? - Yes No No
Can respond to changes? Yes Yes .No

Which one of the follGwirig correctly represents X, Y and Z?

X Y Z
0 Balsam Crocodile Table
(2) ' Toadsidql ) ‘ ) - Panda A , Aefo‘plane
(3 | - Bamboo -~ | - Zebra . . QGat, - -
(4) Fern . Aeroplane Panda

Bala carried out an experiment shown below to find out how an earthworm
respands to light. He placed an earthworm on side A of the tray and shone a light
over it.

container

Bala observed that the earthworm crawled to side B of the tray after ten minutes.
What can Bala conclude from the experiment?

O The earthworm can respond t6 changes.
(2}  The earthworm prefers moist to dry places. .

(3) - The earthwoim can move freely on its own.
{(4)  The earthworm prefers dark to bright places.




5. Serene planted 4 seeds A B C and D m d:fferent pots and placed them at 4

different parts of the house. She then recorded the. hexght of ihe 4 seedimgs over a .

penod of 10 days as shown in the. tab!e below

Helght (cm)

Seediings Day2 | Day4 | Daye Day8 | Dayi0
A T 2 | 2 5 | 6
B Q ' 2 .4 5 7
C z 3 | 5 | 8 8
D 1 3 3 7 5

Based on her observation, which seedling is not growi_ng'as well as the rest?

(n A
2) B
3 ¢
4 D

Which one of the following statements about plants is false?

(1) Plants need light to make food.

(2)  Ali plants can move on their own.

(3) Some planis can reproduce from spores.

(4)  Only plants with green leaves can make their own food.




. Study the classification chart below.

Hard body covering

[ _ 1
Body is made up Body is made up Body is made up
of fewer than of-three parts of more than
three parls _ . three parts
_Eight Six One pair of Two pairs of
legs - legs legs ineach legs in'each
part part
w X Y z

Which group, W, X, Y or Z, in the classification chart above does this animal belong

to?

(1)

2

- (3) .

N XZ




- (1)
(@
(3)

)

o 8 o Whlch pne-:c:jf.ﬂié_fol!b\pj:'frf‘glétatiements s true of mushrooms?

 Miishrooms reproduce by seeds.

- Mushraoms do not produce flowers.

Mushrooms make food by themselves.
Mushyooms do net need water to survive.

9.  Which part(s) of the fish help(s) it to move in the water?

D
(2
)
@

X only

X and Z only
W, Y and Z only
W, X, YandZ

10. The diagram below shows the gills of a fish.

L Gills |

" What s the function of the gills? - -

O
(2)
()
4

To obtain nutrients from the water.
To protect its body from scratches.
To help the fish to swim in the water. -
To take in oxygen present in the water.




11.

12.

“13.

Study the riddle below.

-
(&)
llive in the water.
I have hair on my body.
I use iny flippers for swimming.
w,
\_/

Which one of the following animals fits the riddle above?

(1)
(2)
(3)
@

Shark
Dolphin
Penguin
Mudskipper

Which of the following functions of the outer covering of a bird.is true?

(1)
(2)
(3
4)

A It helps it to fly.
B It keeps its body warm.
C it protects it from the strong sun.

A only

B only

A and B only
A, BandC

~ Which one of the following organisms does not reproduce in the same way-as-the

~ others? - o :
(1).- ofter-

{2} - spider

(3) kingfisher -

(4) weaverants



" 14,

15.

Gabby observed four organisms, A, B; C and D, during an excursion to the zoo and
recorded her obseivations in the tab!e shown "below. A tick (/) shows that the
organism has the charactensnc ' :

Organisms A B c D

Characteristics
Has four limbs v ' 7
Covered with hair v v

Which one of the above organismis represents a turtle?

M A
2 B
3 ¢C
4 D

Plants need sunlight to make food and thus grow well. Which ene of the following
set-ups can be used to demonstrate that plants respond to sunlight?

5 o _ (2) ,
~T¢}]__cCardboard : 41 Wooden
T box zpY 1 box
hole 74 hole
3) (4)
. Glass Cardboard’
: hole’




T

- 16, . Thé'picturesbelow show asnail and'a forfoise,

shail tortoise

Based on what you can see from the pictures above, which one of the following
statements about the iwo animals is correct? :

(1)
(2)
(3)
“4)

“The snail has no legs but the tortoisé has four legs.

The shail feeds on plants but fligtortoise feeds oii small fish.
The snail lays eggs in water but the torioise lays eggs on land.
The snail and the tortoise hide inside their shells when disturbed.

17.  The following plant paris are grouped based on a commeon characteristic.

ginger potato yam

A tomato cannot he placed in the same group above because it is not a

g "

- 2)
3
- 4

root

fruit

stem

- flower



18.  The flowchart below describes the functions of different parts of a plant.

Which one of the following correctly represents paris, A, B and C7

1)
2
(3
(4

Start

Does. it hold
- upright?- - -

Does it absorb water?

‘No

the plant

A B c
Roots Leaves Stem
Leaves Stem Roofs
Stem |, Leaves Rootls

Roots

Stem

107

Leaves




19

20.

* The picture below shows a plant.

Which one of the following statements expiains why the ptant dried up after a few

days?

Q)
(2)
3
(4)

o
@
(3
@ -

Water was not absorbed by the roots.

The plant was not able to stand upright to obtain light.

The roots did not anchor the plant firmly to the ground.

The stern was not able to transport water to all parts of the plant.

“The picture below shows a bean plant.

P Q- |- R

~ flower fuit .| - - stem -
leaf o fuit |- stem
fruit - flower . root -
leaf - flower - | root

11

[



T -':'21 S The dlagram below shows a plant with the outer ring of the stem between part X
i ‘and Y removed: By doing so, the tubes ‘which catry food between part X and Y are
removed while the tubes whlch canry waterreinain in the stem. :

pot filled with
soil

Which one of the foliowing diagrams represents the appearance of the stem after a

week?
) (2)
X X
Y Y
3 .

(4).

12




22 Which one of the following is not a function of the hdmah‘éke-let_al: system?"- -_ o

23.

24.

(1) It gives the body its shape.

(2) Itenables us to stand upright.

(3) Itabsorbs food for the human body.

(4) tworks with thé miuscilar system {0 enable us. to move.

Paul planted four balsam plants in his garden as shown in the diagrams below.

Based on the diagrams above, amrange the plants in order starfihg frony the easiest
to uproot to the hardest.

(1) AB,CD
@ D.AB,C
(3 C,B,AD
4 B,C,AD

Study the classification chart below.

Human Systems

Group A Group B Group C
biood-.‘ . -1 stomach .. ... . . . Ngse
' biood‘vessels_ - | smallinfestine ] lungs

In which of the above gr'dups, A, B .or C, should the windfaipe be placed .in?-

(1, A
(2) B
B3 C

. (4) - None of the above

13

2



25.  Which of the following systems work togethélj t'o:erl'able Jun Xiong to dance? : o

A skeletal

B muscular
C circulatory
D respiratory

(1} Aand Bonly
(2) CandD only
(3) A,BandD only
4 AB,CandD’

26. Mary placed: 1009 weiglits, one at a ime, info four bags, A, B, G and D, éach made
from a different material. She recorded the number of weights the bags could hold
before they tore, Her results are shown in the table below.

Number of 100g weights
Material . it could hold before if tore
A 7
B .10
c 5
b 4

Based on her results, which one of the following statements about materials A, B, C
or D is comrect?

(1) Matlerial B is the hardest.

(2)  Material C is stronger than material A.

(3) Material D can hold the least amount of water. ~ - .
(4)  Material B can hold 360g more weights than material A




. system?

(1

3)

" 37, Which one of the following diagrams co

Mouth
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Windpipe

¥

Stomach

¥

1 Small intestine

¥

Large intestine

v
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KMouth

¥

Gullet

¥

Stomach

¥
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v
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v

_Anus

@

“4)

15

rrectly ';epre'sgntsi't:h:a‘ human digesfive:

‘Mouth

{.

Guillet

¥

‘Srhall intestine

T

Stomach

¥

Large intestine

¥

Anus

Mouth

¥

Gullet

v

Stomach

3

Small intestine

¥

targe intestine

¥

Anus

5



| Bénjamin gréﬂpé;d'sbmé."quects r;\béordfng' to,;t;he,_-méi:ter,ia'_lé'.ﬂxefaré made of. _' . _ Ry

“Wood | Fabric | __Wetal | Plastic |
log © botlle key straw
paper - pillow case |window gritle { raincoat

Which one of the above objects has been wrongly classified?

() log
{2) siraw
(3) bofile

(4)  window grille

The bar graph below shows the amount of water that four different materials, J, K, L
and M, can absorb.

A

Amount
of water

n Materials

Based on the graph above, which material is most suitable for making part G?

S (1) Material J
(2) MaterialK
(3) - Materal L
(4) Material M

16




. 30. - Stu&y-tbe flowchart below.

Start

Can it break
easily when
dropped?

Is it

flexible?

Tsit
transparent?

Which one of the following correctly shows what materials, U, V, Wand X, could

be?

e}
(2

@
.

u v W X
porcelain glass cotton plastic
cotton rubber metal wood
plastic wood - glass - iy - porcelain
glass porcelain rubber. metal,

- End of Section A -

17
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Secﬁon B: {40 tﬁarks} A

For questmns 31 to 44, write your answers in this book!et The number of marks avallable -
is shown in the brackets [ ] at the end of each questwn or part question.

31. Study the classification chart below.

Things
X Y
air
| i
A B stone
giraffe l
—— l Bl
amsier moss duckweed
staghorn fern water lily

Based on the classification chart above, give a suitable heading for each of the
groups, X, Y, A and B. [2]

Groups Suitable Headings

X

Y .




T

3. The tablebelow shows the uribot of each type-of fiing fhinigs found in James’ garden.

Bird's nest fern | Rose plant | Papaya tree Toadslool Conifers

3 . 4 2 5 2

Based on the information given above, complete the graph below by drawing the bar for

each category of organisms stated. 31
Number of Organisms
A

1 0_ _____________________________________________

8 e m e m e = e e —

6 I ettt st et

4 e e o e e e e m e

2 e e mm e A e ——— e LA e

LA Z2 Z > Types of Organisms
Flowering  Non-flowering Others
Plants Plants
3



Heather Ieft two pleces of bread in two :denhcal alrhght jars, R and S- . She has added a
fow drops of water to the bread in Jar S and toasted the. bread in Jar R.. The diagram
below shows the restllts of the ‘experiment after 5 days.

P

/

JarR

(a) Whatis the aim of Heather's experiment?

no mould

can bse
observed
on bread

/

Jar §

A
_-

bread is

very
mouldy

[

() Heather ptaced a third piece of bread in another airtight jar.
turned slightly mouldy after 5 days although she did not add any water to it. What

does this tell us about the bread?

She observed that it

[




O

-Four animals, G, D, Eand F, arg"classiﬁed in the classificalfori chart below.

Animals

r

Give birth

T

=

1

T

Lay eggs

T

]

No Iégs
C

4 legs
D

No legs
E

4 legs
F .

The animals have been regrouped using the following flowchart. Based on the

classification chart above, write down suitable questions for (i) to (iv) below.

Start

(i)

(i)

()

4]

23



. Sludy the classification table below.

Animals
Group Y Group Z
Cow Bat
Guppy Sparrow
Platypus Butterfly
(a) Give suitable headings for groups Y and Z. {1]

Group Y:.
. Group -Z:

(b} Regroup the animals in Y and Z such that there is equal number of animals in each
group. Write down suitable headings for each group.
(3]

Animals
I




36. Nerisa studied the properties of four matéﬁafé,_ﬁ, B, C“-a‘n‘d_ D,and i’ééo_r_c_léd ih_erﬁ in:t_her L

table below.
Materials
Properties A B c B
Is it hard? ' Yes No Yos | Yes
Does it break easily when dropped? 1 Yes No Yes No
Is it waterproof? Yes Yes No Yes
Can you see through it? " No N'o | Yes | Yés

(a) Which of the above materials, A, B, C and D, are most suitable to make parts X
and Y of the pair of swimming goggles shown below? i1

X: Y:

(h) Based on your answer above, identify one of the properties of your choice of material
for Part Y and explain how this property helps the swimmers while swimming. 2]




37. Fourballs A, B, Cand D of the same size but made of drfferent matenais were we:ghed and
{hen left to soak in a basin of water for five minutes. The balls were: then removed and;
weighed again. The graph below shows the masses of the balls at the start and end of the -

experiment.

Mass (9) Starting

D hass

Ending
mass

. e i Rk » Materiall

(a) Based on the graph abeve, which material (A, B, C and D) is the most absorbent? [1}

{b) Explain your answer in (a) above. [21




. . 38. . The pictures. belowshow some edible plant parts. identify the patts of the plants where
most of the food is stored. ' [31

" Plant part

Carrot

Water Chestnut

Lettuce




. 739, Ah was trekkmg in the forest and chanced upon some unusuai p{ants He observed them

carefulfy and made the foHowmg noles about them

- P.[ant

"Where is the

Type of plant-: ' Numbar of - Type of leaf - ¢

R : .seeds - edge _ plantfound?
A - Non—ﬁowenng - Entire - Water
B Flowering Many Lobed Land

C Non-flowering .- Toothed Water

D Flowering Many Lobed Land

E Floweing - Afew. Toothed Water
F Flowering Afew Entire Land

" Based on the observations given in the table above, class:fy all the plants by placmg the
letters (A to F)in the boxes provided below. You may write more than one letter i in a box
or leave any boxes blank.

Plants in the forest

[

[3]

1
Land
Many A few
seeads seeds

Non-flowering.

L

| . edge. -

Entire

Lobed

!
Aquatic
{
| 1
Flowering
I
~ Toothed
‘edge- | edge

10




40,

Matthew set up an experiment as shown below. He added a few drops of blue
colouiiiig inito ‘edich of thé beakers. The two set-ups were placed in a sunny spot for
one week. (Note: The blue colouring is not harmful to the plants.)

flowers

layer of oil
to prevent
water loss

beaker of water with
biue colouring -

{a) After one day, what change would Matthew notice about the flowers and leaves

of the plant in set-up A? [11

(b) Explain your answer in (a) above. 21

(c} Itwas observed that the ptant in set-up B began to wilt after one day. Why is this

11

1



o ) 41 o M.at'ch the following body sy_stems to thelr correct functions byjbining_ the dots.

Systems Functions
Circulatory system .« » Camries nutrients, water and oxygen to
all parts of the body

i ]

Protects the important organs in the
body

Respiratory system »

Muscular system  « * Takes in oxygen and gives out carbon
dioxide

L

Skeletal systern  « Helps different parts of the body move

12

(2




42.  The picture below shows ‘m'é:hgr-nan:-'skelefél:éﬁ_éiem: oo

Name parts E and F and state the main organs that each part protects.

[2]

Part

Name

Protected organs

13

3\



43. Study the flowchart of a body system below. S : - o

a‘ﬁg:asd -~ Food is chewed and broken.
) into smaller pieces

Y

Bails of food are swallowed

Food is'¢hurned and broken
down into simpler forms

b4

Partially digested food travels
fo the rest of the digestive
system

W and X are substances that are present in the body system shown above.
; .ldenunyandX . T R o -2

CXe

14




' 44 .' Neison ate 90 g of food dunng his recess. The bar graph below shows the amount. of
' food dtgested by 3 different parls. A, B and C, of the digestive system.

Amotunt
of
food
digested

()

Paris of the Digestive System

(a) Which part of the digestive systern does A most likely represent? [1]

(b}  Stale oné difference in the function of C in the digestive system as compared to A
and B. [

{c) ._Can ihe large mtestme be represented by parts B or Cin- the bar graph above’?
' Givea reason for your answer. _ _ . [

- End of Paper -

33
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33a) To find out if moisture is needed for mould to grow well.
33b) The bread is moist but not as moist as the bread in Jar 5.

34i) Is it an animal?

34it) Does it have four Jegs?
34iii) Does it lay eggs?
34iv) Does it lay eggs?

35a) Group Y: Animals that cannot fly
Group Z: Animals that can fly

35b)
Animals
[ i
Give birth to young Lay eggs

alive

Cow Platypus
Guppy Sparrow
Bat Butterfly

36a)X: B Y:D
36b) It is transparent. Swimmers would be able to see through it while swimming so that they would not

bang into things .or other swimmers.

37a) Material C
37b) Its weight increased the most which means that it absorbed the most water so it is the most

absorbent. '

365 ) . .. - . ) 1 ™ ~ plant paftf_y .
Carrot : . ) Reot -
|water Chestnut ' {Stem |
Lettuce _ " |Leaf _ g

i, page2 o il




39)

C 51.]Plahts:in-thé forest_l L

1 .
I Aquatic
T

il |
Many A few Non— Aquati
Seeds seeds flowering c
E
B, D F
Entire Lobed Toothed
edge edge edge
c
A

40a) The flowers and leaves would have turned biue.
%)IthasmsmabsabwamrandmestaanwatermmeieaveSandthe_ﬂower's.

¢ ey wy e

"_____,__-——'

e

e v kSt b
gt ol sy~

Mraphatiry wyv— Prtecry oy gt ggs to. b
] .

* Pt bt ol g, s e

l\—lll:-'-ﬂ-u ) 7'{ .

Sttt Sy ) ° Menigm g i Bl by wvn

-—-r~-‘| N
!
o
-
i
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40c) Tt does not have any roots to absorb water for the plant to survive and make food.
41y .

27



42)

Part Name Protected Organs
Skull Brains -
F Ribcage Lungs, Heart
43) W: Saliva
X: Digestive Juices
44z) Stomach

44b) Digested food 'is absorbed Into the bloodstream at C'but riot ir A and B..
44c) No. The large intestine does not digest food.

Page 4
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